NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.		Quotation (Net)	Qty (MOQ)	Unit	,	Amount	L/T	Remark
1	disposable face mask	VIIII Disposable Face Mink	Type 2R  BFE >98%  Medical  4layer	€	0.05	2000	pcs	€	100.00	1~3D	50pcs/pack 40pack/box Special Price CE Cert.
2	Dust Mask		The Dust Mask provides relief from irritation of non-toxic nuisance dusts.Effective against pollen, common household dust and other non-toxic particles, the Dust Mask is non-certified. Material: PP		0.10	1000	pcs	€	100.00	1~1.5W	50pcs/pack
3	Dust Mask		polypropylene shaped mask without valve 140 g/m² for working in dusty environments material: polypropylene color: white	€	0.08	1000	pcs	€	81.00	1~1.5W	
4	FFP2 Mask	- The state of the	Five-layer folded respirator FFP2 without valve - respiratory protection against solid particles, solid and liquid dust, smoke, bacteria, mold and aerosols. folded respirator five-layer, non-woven fabric, melt-blown fabric, cotton, hypoallergenic	€	0.26	1200	pcs	€	312.00	1~1.5W	1200pcs/box
5	FFP2 Respirator	CONTROL STATE OF STAT	Protects against fine toxic dust, fumes and water based mists. CE-CAT III Ultrasound welded elastic strap Large inner space to help the user to breathe more easily	€	0.51	200	pcs	€	101.40	1~1.5W	방진마스크 20pcs/pack 30pack/box
6	respirator FFP1		aterial: SMS fabric, polypropylene, rubber standard: EN 149: 2001 + A1: 2009 filtration class: FFP1	€	0.93	50	pcs	€	46.58	0.5~1.5W	다양한 형태의 산 업용 마스크 공급 합니다.

<mark>IEW PRICE</mark> IEW ITEM

					_		_	_		INLVV IILIVI	2023-03-20
No.	Item	Photo	Code, Spec.	(	Quotation (Net)	Qty (MOQ)	Unit	А	mount	L/T	Remark
7	Cleanroom Cap		Color: Sky Blue Free size Man Cap	€	3.96	20	pcs	€	79.20	1~3D	10pcs/pack 팩 단위로만 판매 가능
8	Cleanroom Garrments		Color: Sky Blue "Y" Collar type Size: S~5XL Stripe Type Jacket+pants	€	18.76	20	set	€	375.20	1~3D / 1.5M	Korean Size From Korea 상/하의 별도 판매 가능!
9	Cleanroom Cap	C1	man cap woman cap Color: S/blue, White Stripe type Size: S ~ 3XL	€	4.62	20	PCS	€	92.40	1~3D	Brand: KM only white man cap on stock
	Cleanroom Woman Cap		Brand:Puritech Color: White, S/Blue Stripe Type Size: only 2XL 10pcs/pack	€	2.13	50	pcs	€	106.50	1~3D	Special Discount! 여자용 모자는 사 이즈가 커도 사용 상에 크게 불편함 이 없음
11	Cleanroom Hood		Check Type color: White Hool with adjutable velcro & Tie Size: XL 10pcs/pack	€	4.79	30	pcs	€	143.70	1~3D	Discount!

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.		Quotation (Net)	Qty (MOQ)	Unit	,	Amount	L/T	Remark
12	Cleanroom Jacket &Pants		Color: S/blue, White  Antistatic, Stripe C collar Size: S ~ 4XL	€	23.98	20	set	€	479.60	1~3D	Korean Size  Brand: KM From Korea Some size on stock
13	Cleanroom Jacket &Pants		Color: navy "C" Collar type Size: only some size on stock Stripe Type Jacket+pants	€	28.00	50	set	€	1,400.00	2~4D / 2~4W(Air)	some size possible or by order(higher price) with Air
14	Cleanroom Arm Sleeve		color: Sky blue 10pair/pack	€	4.65	10	pair	€	46.50	1~3D	Brand: KM From Korea
15	Cleanroom Apron		color: Sky blue 10pcs/pack	€	3.95	10	pcs	€	39.50	1.5M	Brand: KM From Korea
16	DCR Pad	CFI Cont homeword Find KM cont homeword Find	size: 240*330mm 50sheet/pad 5pad/pack	€	15.93	5	pad	€	79.65	1~3D	DCR Roller JM is supplying

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (Net)	Qty (MOQ)	Unit	Amount	L/T	Remark
17	sticky mat		Size: 600*900 color: Blue 30sheet/pad 10pad/box	€ 4.96	50	PAD	€ 248.00	1~3D	
18	sticky mat		Size: 600*1200 color: Blue 30sheet/pad 10pad/box	€ 8.00	30	PAD	€ 240.00	1~3D	Origin: Korea not much stock
19	Cleanroom Ultra Clean Wiper	Fused border	KM-4000D is a ultra clean wiper with sealed & fused border designed for class 10 cleanroom applications. Minimizing particle or lint generation caused by edge damage in actual use, size: 9"*9", 100pcs/bag	€ 28.90	10	bag	€ 288.96	1~3D	Brand: KM From Korea
20	cleanroom wiper	Mes 100 miles	300PCS/BAG, 10BAGS/CTN NON-WOVEN, 9" X 9"	€ 17.96	10	bag	€ 179.60	2M	by order Brand: KM From Korea
21	Cleanroom Wrist Strap(Wirel ess)		Wrist strap is a tool grounding the static electricity and prevents its accident. $1M\Omega$ Resistor is attached on it for keeping off countercurrent and any length for Coil Cord is available according to working	€ 15.92	10	pcs	€ 159.20	1~3D	Brand: KM From Korea small Stock

NEW PRICE NEW ITEM

No.	ltem	Photo	Code, Spec.	Quotation (Net)	Qty (MOQ)	Unit	Amount	L/T	Remark
22	Logo Sewing	" Company Logo"	Logo Sewing Color: Black(letter) White(back ground) Size: 80*70(70*60)mm, (2PCS) Sewing Position on clothes: Pants Right Back hip side and Left Arm side	€ 4.86	30	set	€ 145.80	Aprox. 1~2W	2 pcs/set 왼쪽팔 오른쪽 엉 덩이 재봉 수량에 따라 가격 대 상이
23	Name Card with Sewing on velcro	Section (Section Co.) (Section	Name Card Color: Black(letter) White(back ground) Size: (2+4)*7cm Velcro Female sewing back on name card Velcro Sewing on clothes Position: Velcro Male sewing on Jacket/ Pants Detail: Pants Right Back hip side and Left Arm	€ 6.75	30	set	€ 202.50	Aprox. 1~2W	왼쪽팔 오른쪽 엉 덩이 밸크로 탈부 착식 적용 수량에 따라 가격 대 상이
24	cleanroom coverall		one piece type Coverall color; <b>s/blue, White with red collar</b> Size: S~7XL(Asian Size)	€ 12.00	20	pcs	€ 240.00	1~3D	우주복 특대 사이즈 공급 가능 without hood special price Brand; 퓨리텍 Made in Korea 후드부착된 우주복도 있음!
25	cleanroom coverall with hool		color: White	€ 15.50	20	pcs	€ 310.00	1~3D	우주복 후드일체형 from Korea <b>special price</b>

<mark>NEW PRICE</mark> NEW ITEM

								INE VV IIEIVI	
No.	Item	Photo	Code, Spec.	Quotation (Net)	Qty (MOQ)	Unit	Amount	L/T	Remark
1 /h	disposable overall 3M		disposable protective clothing with a hood of category CE III breathable, reduces unwanted heating with antistatic layer at least it releases fibers two-way zipper with a leg elastic ending of sleeves, pants, hood and waist 3-piece hood for increased compatibility with other PPE	€ 5.40	20	pcs	€ 107.90	1~1.5W	20pcs/pack 1회용
27	disposable overall TYVEK		Tyvek Classic Xpert M,L,XL,2XL,3XL forms a very effective barrier against liquids and particles,suitable for work in microelectronics, automotive, mechanical engineering, chemical industry and industrial cleaning 25pcs/pack, 4pack/box	€ 7.51	25	pcs	€ 187.85	1~1.5W	Better price with big qty
1 /X	disposable coverall		Lightweight durable coverall with superior breathability and comfort. Providing liquid-proof, particle-proof protection with a layer of bacteria filtration. This coverall includes a shoe cover for maximum safety when walking.  CE-CAT III Shell Fabric: BizTex Micro 60g  50pcs/box  Size: M ~ 3XL	€ 3.83	50	pcs	€ 191.50	1~1.5W	one size M.O.Q: 50 pcs
29	cleanroom Crossbag		투명, PVC size: 390*290 with Black Strap!	€ 33.44	10	pcs	€ 334.40	1~3D	

<mark>new Price</mark> New Item

										INEVV IIEIVI	
No.	Item	Photo	Code, Spec.		Quotation (Net)	Qty (MOQ)	Unit	F	Amount	L/T	Remark
30	cleanroom backpack		투명, PVC big size 350*480*200	€	42.24	10	PCS	€	422.40	2~3D	
31	shoes Bag		Color: Black Oxford, 100 % polyester closing for download 2 polyester laces in color 01 reflective elements in the lower corners inner zip pocket 20 x 23 cm backpack dimensions 45 x 34 cm	€	4.60	20	pcs	€	92.00	1~3D	신발주머니 고급원단 사용 , 속주머니 있음.
32	Finger Cots		Type: Ring color: Yellow Antistatic, Power_Free 1000pcs/pack 30pack/box	€	9.12	30	pack	€	273.60	1~3D / 1.5M	Size: M, L. XL
33	PVC Econ Glove (Cleanroo m)		Antistatic 12"(Long) '-No Allergy as PVC material -Economical high quality cleanroom gloves -Excellent fit due to soft and flexible -Class 100~100,000	€	7.54	50	bag	€	377.00		Brand: KM High Quality special price on stock: S, M,L 지문자국 안남음!
34	Nitrille Glove	M. Colombia	protective gloves CE CAT. III medical gloves MDD CAT. AND the gloves meet the strict requirements of the health standard as an added value a special inner layer that makes it easier to put on gloves, especially gentle on the skin of the hands suitable for HACCP environments economic package of 200 pieces	1 €	14.84	20	pack	€	296.7	0.5~1.5W	200pcs/Pack!

NEW PRICE NEW ITEM

										INEAN LICIAL	2023-03-20
No.	Item	Photo	Code, Spec.		Quotation (Net)	Qty (MOQ)	Unit	Am	nount	L/T	Remark
35	Nitrille Glove	DISPOSABLE CLOVES NITBILE POUNDE, FREE	protective nitrile gloves in accordance with legislation 1935/2004 ideal for people allergic to latex palm thickness: 0.09 mm color: blue standard: EN 1935/2004 material: nitrile length: 220 mm (7), 230 mm (8-10) outer side: texture on the fingers inner side: not powdered sizes: 7-10, 100pcs/pack fOOD CONTACT	€	8.71	20	pack	€	174.2	1~1.5W	
36	LATEX disposable gloves	PROTECTS FITCHIST  100 / Boundain Greet FITCHISTORY	protective latex gloves without powder, they reduce the health risks associated with the use of powdered gloves such as allergies and respiratory diseases palm thickness: 0.11 mm standard: EN 1935/2004, color: white material: latex, length: 230 mm outside: texture on the fingers inner side: powder -free, sizes: 7-10	€	7.38	20	PACK	€	147.7	1~1.5W	FOOD CONTACT
37	HYGIENIC VINYL DISPOSABL E GLOVES	PROTECTS	the most economically optimal material for fulfilling legal obligations to protect products, especially food according to EU regulation 10/2011 valid from 1.1.2013, vinyl gloves cannot be used for handling food containing animal fat (butter, milk, sausages) palm thickness: 0.055 mm standard: EN 1935/2004, EN 374-2 color: clear, material: vinyl length: 230 mm, outer side: smooth inner side: powder -free, sizes: 8-10		3.25	40	pack	€	130.1	1~1.5W	Discount! different type fo vinly glove we can supply
38	Disposable Latex glove	Comfort position for a second of the second	diagnostic powder-free latex gloves. Thanks to the powder-free inner surface, the gloves are easy to put on, even on wet hands. The comfort® powder-free gloves have a texture that ensures a secure grip - also in oily or wet environments.  Medical grade I  Protection type III  powder-free - chlorinated		4.32	70	PACK	€	302.5	1~1.5W	Food Contact

<mark>new Price</mark> New Item

No.	Item	Photo	Code, Spec.	Quotation (Net)	Qty (MOQ)	Unit	Amount	L/T	Remark
39	Premium Nitrile Glove	MERCATOR SOUTH	Unique quality premium nitrile glove is perfect for working in difficult conditions. Its distinct colour is perfectly visible, which will definitely facilitate your work.  Size: M, L, XL, 2XL	€ 7.21	40	pack	€ 288.4	1~1.5W	
40	Nitrille Glove	nitryler classe, The second se	The classic powder-free nitrile gloves. Size: XS, S, M, L, XL 100pcs/pack, 10pack/box a universal product available in three colour options, a barrier against bacteria, fungi and viruses.	€ 3.64	100	pack	€ 364.0	1~1.5W	
41	Disposable Nitrile glove	DISPOSABLE NO CONTROL OF CONTROL	100pcs/pack 20pack/box BS EN ISO 374-5:2016 - BS EN ISO 374-1:2016 Maintenance , Logistics , Recycling and waste disposal , Warehousing	€ 4.20	100	PACK	€ 420.0	1~3D	Size: S/M/L/XL on stock
42	Disposable Nitrile glove	Cobal Marian Samuel Sam	protective nitrile gloves CE CAT. III., MDD CAT. AND. AQL 1.5 certified for food contact dermatologically safe, without plastics, phthalates, latex proteins in a package of 100 pcs (90 pcs for size XL)	€ 3.60	100	pack	€ 359.8	1~1.5W	

NEW PRICE NEW ITEM

JM Euro s.r.o. 2023-03-28

ltem	Photo	Code, Spec.		Quotation (Net)	Qty (MOQ)	Unit	A	Amount	L/T	Remark
Disposable PP coveral		elastic cuffs and waist zip fastening packaging: 1 bag - 1 pc material: polypropylene 40 g/m² color: white	€	2.13	50	PCS	€	106.5	0.5~1.5W	다양한 형태 있음
Disposable PP cap clip		making a clip packaging: 1 bag - 100 pcs material: polypropylene color: white (W)	€	3.74	30	BAG	€	112.1	0.5~1.5W	다양한 형태 있음
Disposable PE shoe cover		weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polyethylene color: blue	€	2.61	40	bag	€	104.4	0.5~1.5W	다양한 형태 있음
discount					1	time		-€ 402.74		3,000€~:5%
Delivery Charge			€	35.00	1	Ship	€	35.00		1,000€~: Free (부피)중량물 제외 (예:보루, 헬멧,라바콘 등)
	Disposable PP coveral  Disposable PP cap clip  Disposable PE shoe cover  discount  Delivery Charge	Disposable PP cap clip  Disposable PP cap clip  Disposable PE shoe cover  discount  Delivery	Disposable PP coveral  Disposable PP coveral  Disposable PP cap clip  Disposable PP shoe cover  Disposable PE shoe cover  Shoe covers  Weight 2.5 g Size 15 x 41 cm Packaging: 1 bag - 100 pcs Material: polyethylene color: blue Size: uni  Disposable Shoe Covers  Weight 2.5 g Size 15 x 41 cm Packaging: 1 bag - 100 pcs Material: polyethylene color: blue Size: uni	Disposable PP coveral  Disposable PP coveral  Disposable PP coveral  Disposable PP cap clip  Disposable PP cap clip  Disposable PE shoe cover  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypthylene color: blue size: uni  €  €  €	white jumpsuit with elastic hood elastic cuffs and waist zip fastening packaging: 1 bag - 1 pc material: polypropylene 40 g/m² color: white size: M - 3XL  Disposable PP cap clip  Disposable PP cap clip  Disposable PP cap clip  Disposable PP cap clip  Disposable PE shoe cover  Color: white (W) size: uni  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypropylene color: blue size: uni  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polyethylene color: blue size: uni  discount  Delivery Charge	ttem Photo Code, Spec. (Net) (MOQ)  white jumpsuit with elastic hood elastic cuffs and waist zip fastening packaging: 1 bag - 1 pc material: polypropylene 40 g/m² color: white size: M - 3XL  Disposable PP cap clip  Disposable PP shoe covers  weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypropylene color: blue size: uni  Shoe covers  weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypethylene color: blue size: uni  discount  Delivery Charge  Ten MoQ)  (Net) (MOQ)  (MOQ)  E 2.13 50	titem Photo Code, Spec. (Net) (MOQ) Unit  white jumpsuit with elastic hood elastic cuffs and waist zip fastening packaging: 1 bag - 1 pc material: polypropylene 40 g/m² color: white size: M - 3XL  Disposable PP cap clip  Disposable PP shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypropylene color: blue size: uni  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polyethylene color: blue size: uni  Delivery Charge  Time  Code, Spec. (Net) (MOQ)  White jumpsuit with elastic hood elastic cuffs and waist zip fastic hood elastic cuffs and waist zip fastic hood elastic cuffs and waist zip fastic cuffs and waist zip	titem Photo Code, Spec. (Net) (MOQ) Unit A  white jumpsuit with elastic hood elastic cuffs and waist zip fastening packaging: 1 bag - 1 pc material: polypropylene 40 g/m² color: white size: M - 3XL  Disposable PP cap clip  Disposable PP cap clip  Disposable PP cap clip  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypropylene color: blue size: uni  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypropylene color: blue size: uni  Shoe covers weight 2.5 g size 15 x 41 cm packaging: 1 bag - 100 pcs material: polypthylene color: blue size: uni  Delivery Charge	Disposable   PP coveral   White jumpsuit with elastic hood elastic cuffs and waist zip fastening packaging: 1 bag - 1 pc material: polypropylene 40 g/m² color: white size: M - 3XL   30 BAG € 112.1	Disposable   PP coveral   Disposable   PP cap clip   Disposable   Disposab

EXW Trnava(SK)

€ 10,022.52

Payment : In Advance

If the qty is changed, probably the price will be changed

Leading Time; counting after payment confirmation